AS@h  STAMBENO POSLOVNI OBJEKAT

MEGATAS ViteSkado br. 17.
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STAN S12 P=51,92m2

S$2.512.01 - HODNIK
pod:keramika
P=5,74m2
0=11,92m

S2.512.02 - SOBA
pod:parket/laminat
P=10,02m2
0=12,68m

S$2.512.03 - TRP.+DN.BORAVAK
pod:parket/laminat
P=24,20m2
0=21,92m

S$2.512.04 - BALKON
pod:keramika
P=4,34m2, 50%=2,17m2
0=9,10m

S$2.512.05 - KUHINJA
pod:keramika
P=4,46m2
0=8,77m

S$2.512.06 - KUPATILO
pod:keramika
P=5,33m2
0=9,40m
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STAN S13 P=65,37m2

M.S13.01 - HODNIK
pod:keramika
P=10,17m2
0=16,12m

M.S13.02 - KUPATILO
pod:keramika
P=5,44m2
0=9,50m

M.S13.03 - KUHINJA
pod:keramika
P=4,77m2
0=8,82m

M.S13.04 - TRP.+DN.BORAVAK
pod:parket/laminat
P=25,65m2
0=20,30m

M.S13.05 - SOBA
pod:parket/laminat
P=17,17m2
0=17,45m

M.S13.06 - BALKON
pod:keramika
P=4,34m2, 50%=2,17m2
0=9,10m
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STAN S15 P=80,07m2

M.S15.01 - HODNIK
pod:keramika
P=8,34m2
0=16,31m

M.S15.02 - KUPATILO
pod:keramika
P=9,22m2
0=12,61m

M.S15.03-KUHINJA+TRP.4+DN.BORAVAK
pod:keramika+parket/laminat
P=26,23m2
0=23,68m

M.S15.04 - SOBA
pod:parket/laminat
P=11,67m2
0=13,89m

M.S15.05 - SOBA
pod:parket/laminat
P=14,52m2
0=15,90m

M.S15.06 - BALKON
pod:keramika
P=13,04m2, 50%=6,52m2
0=20,79m

M.S15.07 - LODJA
pod:keramika
P=4,76m2, 75%=3,57m2
0=11,50m
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STAN S16 P=52,32m2

M.S16.01 - HODNIK
pod:keramika
P= 8,15m2
0=15,39m

M.S16.02 - KUPATILO
pod:keramika
P= 5,91m2
0=10,20m

M.S16.03-KUHINJA+TRP.+DN.BORAVAK
pod:keramika+parket/laminat
P=20,69m2
0=20,40m

M.S16.04 - SOBA
pod:parket/laminat
P=12,71m2
0=17,60m

M.S16.05 - BALKON
pod:keramika
P=9,72m2, 50%=4,86m2
0=17,30m
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